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0£HE 169,631 |£&[E 161,069 |£[E 137,636 |£[E 6,744 |&[EFH 7,669 |£E 2655 |[&H 15,325 |£[EF 24,196

1| REAX &R 242244 |EREHRXER 237,637 |EREHRXER 194434 |EiTH 16,371 |lufzh 17,726 |Ri$E 4740 &Rt 22,489 |IZET™H 42,343

2 EW=FE™ 229,706 | &LV f=FETH 218,041 | &ELVf=FTH 179,879 |F%[™H 11,270 | #hiEBH 14696 |i& 4,248 | ERRET™H 21,387 |{&&T™ 38,039

JBTHEM 215806 |BHET 207,096 |BHET 178,620 |LLfzth 9,687 |l& 13,696 |SL\=FH 4239 |EH 19,310 | ZEE™ 36,901
4|15 212,345 |)II&TH 204,348 |)II&TH 172,690 |l ETH 8974 |FHET 11,639 |FEH 3961 |[ZHEM 18,959 |E#th 34,804

5 #8ETH 209,099 |##ETH 201,910 |f&ET 171,591 |F#=E™ 8,847 |ELU 11,465 |HREEENXER 3,941 |IFETTH 18914 |EWumh 34,116

6| FEM 202,838 |FEH 194385 | FEMW™ 165,174 | &LV =FTH 8,712 |f2Eth 11,116 |JII&™H 3,900 |ALiEtH 18,520 |F&[tH 33,436

UlA=Nq 192428 |fHETH 183,689 |fHETH 157,689 {i&Th 8,666 |FAHT 10,389 |#FhiEBth 3,863 &% 18,244 | &Rt 30,789

8| KiEth 191,630 | K:EH 181,181 |IEETH 156,193 |&HE™H 8,503 |=&0TH 10,380 | ZEE™ 3750 |FHEM™ 18,171 |F#=Em 30,467

9| FHE™H 189,726 |IEETH 180,188 |FHETH 155,251 |FE 8,254 |&Lvi=Fm 10,101 |E%MEH 3,599 |JIlgTH 17,653 | KBt 29,611
10 =T 188,666 FHEM 177,700 FRTH 154,483 EMATH 8217 |BERETH 9,955 |EMRTH 3595 | tA#E[RT 17,554 |t&ET 28,548
11 B8 188,071 |#&[th 177,234 | K& 153,548 |Ri{B™H 8,143 |l 9,674 |HFFTH 3381 =R 17,405 |=RBTtH 28,504
12| fEXTH 185,532 | HE&RTH 176,463 | HE&RTH 151,010 |EWm 8,050 |HFE#FH 9,376 |RELLT™H 3,380 |LUFzTh 17,317 [lu@avh 28,181
13 FZBH 183561 =Rt 175,666 | E&[@TH 150,925 L& 7,968 &Rt 9,289 |#ETh 3,376 |f@aHth 17,297 |G 27,857
14| {8 183,479 |fEfERETH 174,102 3R 148,002 |luOTH 7,812 |HIfE™ 9,121 |FHET™H 3,300 [Rth 17,219 E#ATH 27,622
15 &R 182,920 |REARTH 171,197 | #E&RETH 147,837 |db Mt 7,785 &t 9,046 |E%0TH 3177 |HFHAXER 17,051 |EHEHXER 27,478
16 &&IH 181,728 |E&0th 171,105 |f&f™H 143,193 |&iRh 7699 E¥mH 8,997 |&¥ATH 3,118 |H#&™H 16,946 |SL\=FH 27,330
17/ &Rt 181,507 t&[tH 170,888 |REARTH 141,954 |$&[TH 7,681 |FEM 8,571 |[dtfuimth 3094 |FEMH 16,398 |fEE™H 26,798
18| EUTH 181,304 =it 169,628 |&iRth 141917 &%t 7675 |JKFET 8,424 |HER[RETH 3019 @Bt 16,321 |t 26,526
19 1R ™ 181,240 [3&th 167,985 |ELUtH 141,237 |fEET™H 7,652 | REAXER 8,318 |IUfizTh 2,808 | KPR 16,281 |=%0tH 26,328
20 |[E Wi 175,255 &Rt 166,297 [T 141,044 |{EBTH 7476 |faFHT 8,255 |[f@ETh 2803 | E¥H 16,181 |{8B&™™ 26,091
2118 173,240 | KBt 162,534 | KBt 140,856 |JKETH 7217 | ZHEWH 8,076 |ELUm 2,758 |SL=FTh 16,143 |[LB&™ 25,981
22| &5t 167,605 [T 161,953 &x0th 140,022 R 7129 |IEETH 8,075 |[/KFT 2,713 [;E#ATH 16,128 |FZEmH 25,426
23| [LET 165,221 &t 159,703 &t 138,563 |HRIERARXER 7,126 |fE¥E[RT 7,820 |WNITH 2,673 [LETT 15,983 &R 25,284
24;FmH 164212 [[LB™™ 157,823 |;#TH 138,179 #\iIth 7,078 R 7,732 LBt 2,669 |[#EETH 15,960 {l&™™H 25,161
25\ fEE™ 164,080 [;Eth 156,418 |[LB™ 135,226 @B 7074 |¥EET 7560 |IKETH 2591 |BEETH 15461 |BEH 25,000
26| KBt 163,676 |RiIfB™ 152,944 |fEET 132,850 =B 6,915 |{&&mH 7489 | KiEMH 2,560 |dbAuiMT 15,377 |f#FTH 24,818
27 HiItE™ 162,658 |fEET™ 152,154 |Ri#B™H 131,579 | XK:iZETH 6,905 |#NITH 7451 |[#FT™ 2,484 |®AHET 15,221 |f&@FH 24,470
28|fllE™H 162,182 {i&TH 151,193 ;E#ATH 128,858 |E&TH 6,821 |FRFmH 7372 | Kot 2478 |JKETH 15,059 |REARTH 23,978
29 ;BT 161,749 | K&HH 147,729 | K&Hh 127,575 |HH#EET 6,724 |E&¥TH 71,345 E¥mW 2469 | Kot 14,959 |ABHEETH 23,956
30| RE™H 159,232 ;E#ATH 147584 |dLhMth 125,501 |EX[ETH 6,681 | K&t 7316 EREM 2,458 |fEET™ 14,859 |JKETH 23,955
31 KHth 158,810 | EEH 147,195 |{EBTH 125298 |FZEMH 6,630 | KiEMH 7276 {&EEm™H 2421 Bt 14785 |[ERBET™H 23,555
32| LUfsth 157,823 [{£EBH 144897 & 124,984 ¥ UTthH 6,510 |[GET 7,196 |;Em™ 2414 |{E&8t™h 14470 | K&HtH 23,317
BUEE™ 153,624 db AT 144839 | R®HH 124951 |#&ETH 6,489 |E&TH 7,002 |FH#&RT 2,356 | KiEMT 14414 |BfF™H 23,311
M ERET 152,163 |JKETH 143,004 |/KETH 122,605 |BFFTH 6,453 ;E¥ATH 6,930 [&th 2,338 |BERET™H 14,340 | K:ETH 23,160
35|t@H ™ 152,099 |lufzth 142,682 |ERET 122,340 |JI|i&TH 6,445 |BEATH 6,803 =R 2,333 |#3iTITh 14,319 | EiIGtH 22,268
36 AL A 151,281 |HfF™H 140,493 |UfzTH 122,135 |#Li®EvH 6,368 |¥Em 6,795 |&Rh 2247 |EtH 14,273 |t 22,100
37 kKEth 150,839 |ERET™ 139,976 |f@FHTH 121,767 |f@ETH 6,299 @R 6,750 |BEATH 2213 | & 14,160 |ufzth 21,771
38| BT 150,232 |f@HFTH 139,460 |HFFH 121,485 |®#kATH 6,219 EREM™ 6,740 |EERET™ 2191 |[LET™ 14,072 |fBf@™H 21,691
39 #LuRrh 145,176 | #LWRH 133,252 | F#0FrLTH 116,387 |f@FhH 6,180 ZRWW 6,707 |FKHE 2,124 |luAtTh 14,025 |#3TH 21,667
40| BER T 144,630 |38 131,619 |[luOh 111,694 | KHh 6,175 | 6,498 |lLOT 2,115 |BEARTH 13,856 |t 21,448
A\luOh 143,679 |#F1FrLth 131,510 |=i&H 111,526 [3{h 6,109 L% 6,409 | KPRt 2111 | FHFH 13,481 |#LiRH 21,172
42 Fimm 140,938 |LLOTH 130,311 |#iBH 111,426 ERBE™! 6,069 |BEH 6,110 |t&RE™H 2,109 |HfFmH 13,456 | 21,021
43 #iITH 140,265 BEmH 129,685 | #LiETH 111,382 |RBEKTH 6,055 |;&m 5839 | Rt 2,059 |FErLUTH 13,130 |FiI#&™H 20,031
44\ t8ET™H 140,070 |#\TthH 128,410 @B 110,798 |#riBH 5,989 |dbAiNTh 5742 |fEET™ 2021 |E&H 13,043 | KB 19,691
45 B E™H 138,115 |‘&=i&™™H 128,086 |BEuT™ 110,271 | &R 5576 |BRE@T™H 5,663 |E&TH 1,995 |RELH 13,004 |F0ZxIUTH 19,619
46| FRERTH 136,883 @& 127,832 ¥\ ITh 108,592 |&#HTH 5156 |fEET 5,643 |#LIRT 1,954 |Hi#E™H 12,729 |\#BH 18,172
47 BX[Eth 136,860 |BRERTH 127452 |BRERTH 108,134 | KFxtH 5,000 | KRR 5526 |FIFRLLTH 1,845 |f&[EH 12,373 | RIGtH 16,976
48 F1FR LT 133,894 |EX[ATH 125,448 |BX[@tH 104,683 [iEh 4775 |lLhAt 5299 |f&HTH 1,564 ERE™ 12,272 |®#@ATH 16,792
49 Rl 126,714 RiI&mH 119,365 | RiI&T™H 104,661 |BEH 4,407 |FErLUTH 5243 |EWT 1,518 |#F™H 12,235 | BH&H#™H 16,350
50 # AT 125,047 #uth 113,487 [ #Aluth 100,793 | Ri&mH 4381 |f#F T 4,883 |#RE@T™H 1,363 | RI&tH 10,389 |FREEm™H 15,828
51 #umh 122,620 |FkATH 112,875 |#ATH 95,617 | F0FxUm 4296 |RIGTH 4,822 |#luth 1,031 |#AUHh 9,913 [T 15,661
52 B&Z™ 105,115 | &F&HFH 100,332 |&F&HFH 87,052 |FF™ 2,277 ¥l 4323 |BEHT 905 |FREF;mm 8,642 |EERET™ 12,698
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0£HE 4683 |&H 11,834 | £[EF 7,779 |&E 6,024 |£[E 50,727 |[&H 8829 |&H 14,603 |£[EF 8,562

1|l B 8,710 |F#E™H 20,348 | &I 17,695 |REARTH 8,015 |HIRABXER 91,813 |IKETH 14,750 |EHEARXER 29597 |&Rth 15,210

2\f&@E™ 8,503 |#ETh 18,609 | K&Hth 13,677 &%t 7985 |[#FET™ 76,438 |ATHEM 14,148 | SLV=FMH 25558 |Lfizmh 15,141

3|_H 7,632 |IEETH 18,601 |i&mh 11,917 | Ko 7,698 |EULVf=FEmH 76,246 | ERITEBX AR 13,605 =%t 24,282 |EE 14,945
4|)1 5T 7489 &HEM 18,154 [T 11,249 ERE™H 7,666 )& 69,705 |=L\f=Fm 12,604 |REARTH 22,797 |REATH 14,336

5 AR X AR 7,456 |StaTh 17179 |ZEHE™ 11,173 | FR&EEm™H 7,664 |t&ETH 68,566 |t&ETH 11,757 |EWm 20,356 |;E¥ATH 14,165

6 AT 7416 | REAXER 16,901 | SLV=FTh 10,754 | &SLM=FT 7576 | FEmH 67,721 |1t 11,593 |JIlI&™H 20,065 LAt 13,369

B4t 6,851 &R 16,842 |Eith 10515 |[LBE™W™ 7,497 | KiEMW 64,542 |FEH 11,267 |$&[@™H 19,832 |[EU™™H 13,303

8| mERTH 6,753 KT 16,116 |LLfzth 10070 |fEETH 7,380 ;ETH 63,059 |FH#&RT 10,345 |#&@ETH 18,562 |f&FTH 12,639

9| FRfE T 6,607 |JIlI&TH 15982 |ELuth 9,867 [;EMTH 7,309 @R 62,763 |#FTH 10,159 |FEH 17,943 |f&[EH 12,590
10 FHRE T 6476 FEM 15,836 | KiEmh 9745 FEM 7228 BHETH 59,906 | RETh 10,058 | ##Af 17,769 |IEEH 12,240
1MERM 6,472 |#LIRTH 15,181 |{&&TH 9624 |FHETT 7121 &R 59,531 | K:Eth 9,901 | K& 17,732 |{&B&TH 12,238
12| KiEm 6,352 & 15,066 |IEETH 9434 | KiEMH 7063 =R 59,443 | LUTH 9,804 |fiETH 17,251 |[ERBET™H 12,187
13| &t 6,351 | ELUm 14,846 |f@FtH 9,342 | KPR 7,059 |BEATH 57,994 |tB¥E[RT™ 9,795 |fB¥E[RT 16,470 |#k@ATH 12,171
14| Kirm 6,305 |m#BTH 14504 |&iRt™H 9,231 |tA¥E[RET™ 6,882 |fR¥R[RTH 57,616 |£&iR 9,140 |MFT™ 15,840 | R®H 12,037
15 &HIH 6,077 |lUFzTH 14,263 |luOh 9,195 |HIFEABXED 6,663 |fLLTH 56,126 |F#BETH 9,009 |ALMRTH 15,706 |F&# = 12,027
16 FEm 6,013 &R 13936 ERE™T 9028 ERm 6,622 | FRFmTh 52,353 L& 8,958 |RE¥fmh 15,251 |{EETh 11,926
17, kEtH 5367 |SLV\=FTH 13,923 |REARTH 8,871 |FR™H 6,611 | KR 50,653 |ERRFT 8,862 |&iRTH 15,240 |#L1&vH 11,924
18| EUTH 5316 |=%0H 13,793 [ #\iIvh 8,739 |tERE™H 6,589 iR 49918 | KPRt 8,832 | 15130 |#¥\Tvh 11,855
19 fEmH 4872 |[lETH 13,788 |{EETH 8,429 |HfFmH 6,527 |db AT 48815 |&¥ath 8,584 |H#RT 15109 |EH 11,676
20/ ELV=FETH 4855 |RIfETH 13,270 |$&[@™H 8,372 MU 6,498 |[LET 48,587 |E¢RET™H 8,540 |HI¥ETH 14,795 |SLZ=FT 11,665
21 ;8T 4822 |Rih 13,056 ;& 8,222 |#Rth 6,494 |FnFr LT 48556 |fEET™ 8,181 |[L&T 14,765 |BX[EH 11,412
22\ &R™ 4,735 |Z=BTh 12,769 |#&E/ETh 8,174 |JIlI&tH 6,385 |Eil&mH 47,017 3Rt 8,155 |UfsTh 14348 | K&HtH 11,081
23 HHERT 4718 |[lLATH 12,695 BRI 8113 |#HEMT 6,347 |RIAET™H 45,100 |ELUh 8035 |ZTHEM 14,328 {u&™ 10,989
24 F0FrLH 4681 |EHATH 12,638 |H&RTH 8,095 |ELU 6,346 |fEETH 44,659 |f2REH 7,864 |#¥ITh 13,614 |FRfE™H 10,837
25| LUzt 4535 |tAHE[RET 12,384 B[ 8,090 |IxEH 6,144 | E¥mH 44565 |[LETH 7832 |FHEM™ 13,440 |S%0H 10,623
26|t2fEH 4520 |#ETH 12,110 |[RB&™H 8,047 |HIfE™ 6,087 ¥t 44,462 |;E¥ATH 7,780 |#riET™H 13,366 | K:ETH 10,450
27 HiItE™ 4411 | KiEH 11,530 |Fi#&mh 71947 [&EEW™ 6,000 |[EEIRET 42840 |JKETH 7,291 | KHot 13241 |El&™™H 10,029
28| [EtH 4122 [{EET™ 11,430 | KBt 7,733 |¥MITH 5952 |FHE™ 41655 | RE¥mH 6,993 |FRE;TH 13,138 |HfFH 9,739
29| REARTH 4076 |fE2HT™H 10,998 |HIRAHRXER 7,686 |#EET™ 5806 |FRFMH 41,622 |2 6,941 |JKET 13,109 |Hi#B™H 9,713
30 @HH 4062 | KRt 10,577 |[®kET™H 7,613 & 5797 | KHoth 39,942 | K&t 6,914 |{&E™ 12,959 |FREEmH 9,430
31 3991 |fEET™ 10,536 | E&TH 7611 ST 5,785 |&&tH 37,864 |dbAiMT 6,843 | KPR 12,845 |#hiBH 9,319
2| LET 3,944 |f2RT™H 10,345 )1l 7,600 Friam™ 5597 |BERET 37,322 Bt 6,826 |EHT™H 12,808 |#AlUTh 9,133
33 BEh 3930 |E¥Hh 10,322 |&H#HFH 7417 |BEWT™ 5584 |&Rt 36,279 |&%0TH 6,801 |fAHETH 12,695 [{EE™ 8,728
34| EBRFT™H 3,802 |HfFFMH 10,221 | #LigRH 7,392 LA 5567 |JEHTH 35299 [{EEm™ 6,639 |STH 12,557 | &G EM 8,710
35| KRE™H 3,696 |REATH 10,093 |FEH 7,390 |HART 5467 |f&FTH 35239 B 6,606 |JdbAuinT 12,494 |FEH 8,454
B6EET 3,666 |[@LLTH 9658 =R 7,313 ;& 5439 B 34,013 |HI¥E™ 6,571 |lLAT 12,206 )1l tH 7,996
37L& 3638 RERE™H 94471 E¥mH 7,284 |El&TH 5,398 |IETH 32,408 |FNFrUTH 6,544 |3Rth 11,827 |&#Ath 7,901
38| Fimmh 3570 | K&t 9,340 |FHFETH 7,227 AR 5288 |JKETH 32,141 |REAT 6,445 |t2HTH 11,733 |&=BTH 7,895
39/ b A th 3560 |[GET 9,266 L& 7,206 |JKETH 5,286 |EHRTH 32079 |lu@th 6,410 |[EERET 11,547 KBt 7,835
40/luOh 3482 |EHH 9,035 |tH¥E[RET 7,163 |£iR™ 5222 |#FiET 31,601 | R 6,327 |{EEm 11,319 |i#tH 7,794
41 | fLIEH 3374 |FET 8,643 |EBH™ 7,148 |#xluth 5119 |#ITH 31,081 |¥ATTh 6,204 |;ETH 11,297 |LB™H 7,398
42 ¥ TTH 3,284 |;Eth 8,068 |#xlUth 6,869 | FNFRLLTH 5117 |ELUH 29,162 |UFzTH 6,198 |ZRTH 11,124 | RI&H 7,349
43|12 3231 |E&tHh 7,828 | dbAINTH 6,774 |IUFzTH 5053 Bl 28,667 |FRETH 6,181 |fEE™ 11,124 4K 7,188
44| FFH™H 2,798 |#riEth 7,804 | FFRILTH 6,461 |#HF T 5041 |#LiIRH 26,879 |#LiIRTH 6,163 |[ELLT 11,104 | AB#EERETH 7,138
45| RI&™H 2,757 |db AT 7619 |JKFET™ 6,326 |f2ETH 4992 |[ETH 26803 |EEREM™ 6,089 |;E¥ATH 10,945 |FHE&RTH 6,457
46 Ko 2,674 |BF;T 7,448 |EWATH 6,298 | R¥mH 4617 |FKE™T 24,842 |t2FHTH 5,960 |=W&H 10,846 |dt it 6,442
47 ¥ it 2,426 |FFr LT 7438 2B 6,120 |BERETH 4,399 LA 23324 |{E2Em™ 5715 |HFFmH 10,146 |3Rth 5,255
48| B fE] 2,281 |®ETH 6,919 #FmM 5966 |H&H&M 4,390 |E¥TH 22935 |E&TH 5715 |HE#&HF™ 9,465 | FTH 4977
9 ERET 2,265 | R 6,824 | Fiam 5349 |f@HTH 4,360 |t2&TH 21,620 |BERE™ 5,635 |IKETH 9245 |HH™ 4,784
50 ARER T 2,020 BT 6,726 |FRFTH 5,340 |#LiRTH 4133 |{&&8t™h 21,048 ¥ 4,825 |F0FxLTH 8,580 |REAPXER 4,608
51 #@ATH 1,795 |¥MIth 6,347 | RI&TH 5310 |RI&H 4124 |lLUfsth 18,906 |FkATH 4563 | RIGTH 8,377 |FnFruth 2,384
52| BI&TH 1,695 |#alth 4479 |FFT™ 4,876 |FETH 3,703 |&FH™ 18,536 |&H&HFM 3,815 |#Lmh 7,869 | KPR 1,143




